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PHILOSOPHY — HONOURS
Paper : CC-5
Full Marks : 65

Candidates are required to give their answers in their own words
as far as practicable.

AFERE TRl o [
| T Bealt e e Rose -y 708 eitais e e yx30
) Wk 2 —
(@) <3 aApfer Rew (@ o ST e
(@ 9§ e &) = s Rem |
(R) S efore T —
(=) fommers (=) e
@) REmere e Rafiee () e T
(o) Toomag TS MR ol 79 2
(=) ol _ (o) Fonf
® &) a6
(2) Pt 7ot AR sweE arew—
(=) R (=) ST
@) =i &) gwEs !
() WfolRe O Freset Aarre TSI T Wl HuaT Srad FATRA ?
(=) e (=) o=l
® a3 &) 1%
(®) Pt sTooT ARt weambe AW T —
(=) ~ffwmam () e offdee fammam
() T8 & TN A T &) e
® Wk Remafm Tty @ wivasita wi foios o
(=) e (a) ST (o
@) aRe® () el

Please Turn Over



(T(3rd. Sm.)-Philosophy-HICC-S/CBCS) (2)

(&) NPT dfo9e 8 47 oI 20—
=) FEe (=) 2
@ e &) &
() AT AL 2L —
(W) W (o) A%
@) enlmy (%) Peatgamen |
() Frafers wpifieum T @ wflas (otBIeraA (Gestalist) ¢
(%) ST @) =T
(® T &) @R
%) @ A JIF FfaR Awfe oy sEae
(o) Rw (= Bl
@ () TG |
(®) @R TG wifeEws BT IR
() & CHELT
® o &) oEb
| WG -y Al dred Tea e axe

(@) s «{fFee F e MOFTA WHAGA I

(*) 2AoiRe-2fe Rrere elum aef N F e AP WG I |

() AT e TR #I € Hend<s T FETTT AL (e !

([) ST TRafE S

(8) (FE- T RATH WS SERRTHR o1 TG FRUFLA ACEAGA] A
(5) B 9391 6 MO I T A T |

(®) 737 elfeds € Aers eiftad g qu #A1d SIETa F |

(w) FTETem Sotmm F e ATFH QB I

ol FTSe @Ay 7fo v TEI e ¢

&) wﬁammﬁw%wﬁmﬂnmlaimmﬁﬁsmewmmwmmmew-mm
Helr — SEEAGA I Yo+

() ﬁﬂ*ﬂﬁﬁﬁ—ﬁtﬂ?m@ﬂﬁaﬁmmﬁw@*ﬁwﬁma‘%a?w-mﬁamﬁm
TS i I 2 Q1O+8



(3) (7(3rd. Sm.)-Philosophy-H/CC-5/CBCS)
() e wtiem’ gece 9 (IR 2 ZR0 PR T S @ AR wriRmwrstar 1 wi1efy orans t GX

A & 75w e L+E+8
(W) T ¢ FeN! & o e ez Sea s | BTG e foesiv wra Sfes sees Rpaf e 3t
&+50

[ English Version ]

The figures in the margin indicate Sull marks.

- Choose the correct option from the following questions (any ten): 1x10
(a) Psychology is
() a natural science (ii} a physical science
(iii) a biological science (iv) a social science.

(b) Hallucination is

(i} Objective (i) Subjective
(i) Objective and Subjective {iv) None of these.
(¢) How many attributes of sensation are there according to Titchener?
(i} Four (i) Three
(i) Two (iv) One.
(d) The supporter of Insight theory of Leaming is
(i) Kéhler (i) Watson
(i) Lashley {(iv) Freud.
(e) How many secondary laws are mentioned by Thorndike in his theory of learning?
(i) Five (i) Three
(iti) One (iv} Two.
{(f) The name of Thorndike’s theory of learning is
(1) Insight theory (i) Conditioned response theory
(i} Trial and Error theory (iv) None of these.
(8) Select the name of the Behaviourist philosopher from the following options.
(iy Kahler (i) William James
(i} Ebbinghous (iv) Watson,
(h) The founder and principal proponent of psychoanalysis is :
(1) Freud {if} Jung
(i) Titchener (iv) Skinner.
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(i)

®

(k)

®

The supporter of the Person theory is :
(i) Strawson (i) Ryle
(i) Watson (iv) Spinoza.
Who of the following philosophers is a Gestalist?
(i) Watson (ii) Descartes
(iii) Stout {iv) Kahler.
Who is the first to mention the method of measuring 1.Q.?
() Binet (i) Simon
(iii) Stern (iv) Terman-Merill.
How many types of personality are accepted by Kretschmer?
(i) One (i) Three

(iii} Five (iv) Four.

2. Answer any five of the following questions : 5x5

(a)
(b}
(c)
(@
(e}

What is the scope of psychology? Discuss briefly.

What are the primary laws of learning as formulated by Thorndike? Answer in brief.
Distinguish between a punisher and a negative reinforcer, following Skinner.

Discuss the stages of introspection.

Discuss the main tenets of philosophical behaviourism regarding the relationship between body and
mind.

(f) Distinguish between chronological age and mental age,

(2)
(h)

Distinguish between simple reflex action and conditioned reflex action.

What are the factors of personality? Answer in brief.

3. Answer any twe of the following questions :

(a)

(b)

(c)

(d)

Explain the theory of learning by insight. Can this theory be looked upon as an improvement on the
trial and error theory of leaming? — Discuss. 10+5

Describe the Binet-Simon test of intelligence. What are its disadvantages? How did Terman-Merrill
improve upon this scale? T+3+5

What do you mean by ‘personality types'? Distinguish, after Jung, between Introvert and Extrovert
types of personality. How far is this distinction tenable? 6+5+4

Is mind co-extensive with consciousness? Justify your answer. Discuss the proofs, given by Freud,
for the existence of the unconscious. 5+10



